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Macroeconomics

* Economic growth — longer trend

e Economic fluctuations — short
run economic fluctuations
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Short-run Economic Fluctuations & AS-AD Model
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2. ...together with a fall in

Price level, P the natural level of output...
LRAS:> T.RAS,
-\
A
SRAS
B

1. A fall in aggregate

demand...

\ AD;
AD:
Income, output, Y
3. ...results in a recession.
FIGURE 1 . ;
Source: G. Mankiw (8/2020)

The Covid-19 Recession of 2020

When a pandemic strikes and many businesses are temporarily closed, aggregate demand falls
because people are staying at home rather than spending at those businesses. Because those
businesses cannot produce goods and services, the economy’s potential output, as reflected in the
IT.RAS curve, falls as well. The economy moves from point A to point B.




Tong cau AD?

+ - ++ —+
AD = C(Y-T) + I(r) + G + X(g,Y*) - M(g,Y)
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e C = C(Y-T) — [HO gia dinh] ”

G [Chinh phu]
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e NX = NX(g,Y*)Y) “ [Nudc ngoai] [e = e.P*/P],[e]

5



Fiscal Policy?

* Govt. (T,G) =% ADJ=> Y&Qy, U, P&%AP,...
e T=NT = Net Taxes = Taxes — Govt. Transfers

 Automatic Stabilizers? (Taxes, Govt. Transfers)
e Taxes=To +t.Y c
mployment

* Govt. Transfers = Tr or output | Business-

cycle _
| * Business Cycle & Fiscal Policy: peaks

* Expansionary Fiscal Policy (T?, G?)
e Contractionary Fiscal Policy (T?, G?) s

V | .
AD = C(Y-T) +I(r) + G + X(£,Y*) - M(,Y) N )
i=r+%AP

e = e.P*/P = Price of Foreign Goods/Price of e Year

Domestic Goods Recession Expansion  Recession
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Fiscal Policy

AD = C(Y-T) + I(r) + G + X(&,Y*) - M(g,Y)

!

Fiscal Policy Aggregate Demand, Y&Qy,
Government ' AD I u,
(G, T) P&%AP....

level
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Fiscal Policy Influences AD

* Fiscal policy
 Government policymakers
* Set the level of government spending (G) and taxation (T)

e Shift AD
 Multiplier effect o

level LRAS
* Crowding-out effect SRAS
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Fiscal Policy & Multiplier effect

Closed Economy: AD=C+1+G

e C=Co+ MPC.(Y-T) 'C =100+ 0.8(Y-T)]
e T=To T =100]

* G=Go (G = 100]

*l=lo | = 200]

* Equilibrium: Y =AD

Y =[Co—-MPC.To + lo + Go] + MPCY
1

Y = [Co— MPC.To + lo + GO]
(1-MPC)
=>AY =——— AG AG =20 => AY = 100
(1-MPC)
R multiplier (s6 nhan chi tiéu chinh phu)

(1-MPC)



Fiscal Policy & The Multiplier Effect

Price
level

Aggregate demand, AD,

2. ... but the multiplier effect
can amplify the shift in
aggregate demand.

Aggregate

price
level

1. An increase in government purchases
of $20 billion initially increases aggregate

demand by $20 billion . . .

An increase in government purchases of $20 billion can shift the aggregate-demand

Quantity of
Output

AD3 PE .......................... ELR

LRAS

SRAS

Long-run
macroeconomic
equilibrium

curve to the right by more than $20 billion. This multiplier effect arises because
increases in aggregate income stimulate additional spending by consumers.
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Aggregate
price

Fiscal Policy &
The CI’OWdIn% Out Effect

Interest oney Market (b) The Aggregate-Demand Curve

rate Money 2. ...theincrease in Price 1. When an increase in Pe
spending increases level government purchases
money demand . . . increases aggregate demand...

3. ... which increases the
equilibrium interest rate . . .

£l MD, N
N
AD,
Money demand, MD;
0 Quantity fixed Quantity 4. which in turn partly offsets the Quantity
by the Fed of money jnitial increase in aggregate demand. ©Of output
Panel (a) shows [ing
increase in incon G => AD => Y => Md => r => I => AD => Y rise from
r,tor,. Panel (b ses shifts
the aggregate dr...._...l mrsrmnsm Lvamsma AN A AN AV R T - SR S ST G- B JR T S ol YR S B JR - Dy :n the

mteres‘trateten AD C(Y T) + I(r) + G + X(E Y*) M(E Y) a;:r;)wding

out of investmer

demand curve shifts only to AD,. U
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Automatic Stabilizers?
[C4c nhan td binh 6n ty dong]

* Taxes =To + t.Y
* t: suat thué [vi du 10% hay 0.1]
Employment

* Govt. Transfers = Tr or output | Business-
cycle
peaks
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Monetary Policy

* Central Bank (i,Ms) => AD => P&%AP, Y&Qy, u,...

* Business Cycle:

e Expansionary Monetary Policy (i?, Ms?)
e Contractionary Monetary Policy (i?, Ms?)

* Liquidity Trap [Bay thanh khoan]
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Monetary Policy

AD = C(Y-T) + I(r) + G + X(g,Y*) - M(g,Y)

Monetary Policy
Central Bank
(i, M®)

level

!

Aggregate Demand,
AD

LRAS

E—)

Real GDP

P&%AP,
Y&Qy,
u, ...
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Aggregate Demand - AD

* Aggregate-demand (AD) curve slopes downward:

* Simultaneously:
* The wealth effect

* The interest-rate effect
* The exchange-rate effect

Aggregate
price
level

Elessmerepima s mmes By s R S B RS EI_R
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SRAS

Long-run
macroeconomic
equilibrium

AD
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|

Potential

output

 When P falls - quantity of goods and services demanded increases
 When P rises - quantity of goods and services demanded decreases

* For U.S. economy

* The wealth effect - least important
* Money holdings —a small part of household wealth

* The exchange-rate effect - not large
* Exports and imports — small fraction of GDP

* The interest-rate effect ( Fed & Monetary Policy)

* The most important

* Vietnam economy?
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AD

* The theory of liquidity preference
Keynes’s theory

Interest rate adjusts:
* To bring money supply and money demand into balance

Nominal interest rate, i = r + %AP(e)
Real interest rate (r)
* Assumption: expected rate of inflation %AP(e) is constant =>i & r?

* Wealth = Money + Other Assets (Bonds,...)
* Wealth Max.?
* i(M)=0vs. i(B)>0?
* i(B): opportunity cost of holding money
* Money Demand & i(B)?
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Demand and Supply of Money

* Money supply Ms=M=C+D
* Controlled by the Fed => vertical Ms

e Quantity of money supplied

_ f Equilibrium in the money
* Fixed by Fed policy

e Doesn’t vary with interest rate market
* Fed alters the money supply = Interest rate — adjust to balance
* Changing the quantity of reserves in the banking system the supply and demand for money
* Purchase and sale of government bonds in open-market operations = Equilibrium interest rate
° I\/Ioney demand Md = Quantity of money demanded
* Money — most liquid asset exactly balances the quantity of
* Can be used to buy goods and services money supplied

* Interest rate — opportunity cost of holding money

* Money demand curve — downward sloping

* Increase in the interest rate
* Raises the cost of holding money
* Reduces the quantity of money demanded

17



Equilibrium in the Money Market

According to the theory of
liquidity preference, the
Interest interest rate adjusts to bring
rate Money supply the quantity of money
supplied and the quantity of
money demanded into
balance. If the interest rate
Is above the equilibrium
Equilibrium level (such as atr,), the
Interest rate quantity of money people
] want to hold (M9,) is less
2 than the quantity the Fed
has created, and this
surplus of money puts
downward pressure on the
interest rate.
Md, Quantity  Md, Quantity of Money
Fixed by the Fed

Iy

Money
demand

Conversely, if the interest rate is below the equilibrium level (such as at r,), the quantity of money people
want to hold (Md,) is greater than the quantity the Fed has created, and this shortage of money puts
upward pressure on the interest rate. Thus, the forces of supply and demand in the market for money
push the interest rate toward the equilibrium interest rate, at which people are content holding the
guantity of money the Fed has created.
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The Money Market and the Slope of the Aggregate-Demand Curve
(a) The Money Market

Interest Price (b) The Aggregate-Demand Curve
rate Money 2. ...Iincreases the level] 1. An increase in the price level . ..
demand for money ... 4. ... which in turn
3. ... which increases reduces the quantity
] equilibrium interest rate . .. of goods and
2 2 services demanded.
] Money demand at
! price level P,, MD,  P1
Money demand at g\ggregc?te
price level P;, MD, eman
0 Quantity fixed Quantity 0 Y, Y, Quantity
by the Fed of money of output

An increase in the price level from P, to P, shifts the money-demand curve to the right, as in

panel (a). This increase in money demand causes the interest rate to rise from r, to r,. Because
the interest rate is the cost of borrowing, the increase in the interest rate reduces the quantity of
goods and services demanded from Y, to Y,. This negative relationship between the price level

and quantity demanded is represented with a downward-sloping aggregate-demand curve, as in
panel (b).
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Aggregate

Monetary Policy Influences AD

level
SRAS

Long-run
macroeconomic
equilibrium

PE ............................ ELR

Aggregate-demand curve shifts
* Quantity of goods and services demanded changes
* For agiven price level

Monetary policy AP
* Increase in money supply v T
 Decrease in money supply o
 Shifts AD curve output

Changes in monetary policy — Expansionary Monetary Policy

* Aimed at expanding aggregate demand
* Increasing the money supply
* Lowering the interest rate

Changes in monetary policy — Contractionary Monetary Policy

* Aimed at contracting aggregate demand
* Decreasing the money supply
* Raising the interest rate
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A Monetary Injection

(a) The Money Market (b) The Aggregate-Demand Curve

Interest Price
rate level
Money supply,
MS, MS,
| 1. When the Fed
—1_increases the '
[P Er— money supply o
L P
2
\ AD,
Money demand Aggregate
at price level P —T demand, AD,
0 Quantity 0 Y, / Y, Quantity of output
2... .. the equilibrium ofmoney 3 which increases the quantity of goods
interest rate falls . . . and services demanded at a given price level.

In panel (a), an increase in the money supply from MS; to MS, reduces the equilibrium interest
rate from r, to r,. Because the interest rate is the cost of borrowing, the fall in the interest rate
raises the quantity of goods and services demanded at a given price level from Y; to Y,. Thus,
in panel (b), the aggregate-demand curve shifts to the right from AD, to AD.,.
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Liquidity Trap & Monetary Policy

* Liquidity Trap?
* [L3i suat qua thap (tiém can zero) do vay chinh sach tién té thong thwong mat
tac dung]

e Deflation and Liquidity Trap?

* [Tai sao gidm phat va bay thanh khoan tr& thanh vong xoan di xuéng?]

[xem CVT 2017]
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Gidam phat va bay thanh khoan

Giam phat (Deflation) B3y thanh khoan (Liquidity trap)

Ao 125  S0PPy-SiDE AND DEwsND-SIDE DEFLARON
F 3

r
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http://cruel.org/econthought/essays/keynes/realbalances.html

Hieéu ing Fisher

Phwong trinh Fisher (Fisher equation) Hiéu wrng Fisher (Fisher effect)

i =r+ %APte) ei=r+ %AP¢
e %AP = 6%
¢ i=7% u
=>r=1% 1:1

Khi NHTU tang toc do tang truwd'ng
tién, két qua dai han
Ty 1€ lam phat (%AP) cao hon =>
L3i suat danh nghia (i) cao hon




Deflation < Liquidity Trap

 GFC 2008 => economic depression => AD? => P? = %AP? [Deflation]

e Fisher effect:i=r + %AP [%AP =>i] #[1:1]

* %AP? =>i? (but i: “zero bound”) => Liquidity Trap!
*0=r+(-1); O0=r+(-2)... =>r="7

e r=>0C, Il...=>AD? => [Deflation]

 And so on...

Solution:

* QE (Quantitative Easing) + ...[not OMO (Open Market Operations)]
* USvs. Japan & Euro

25



Using Policy for Stabilization (?)

* Keynes
» Key role of AD in explaining short-run economic fluctuations

* The government should actively stimulate aggregate demand
* When AD appeared insufficient to maintain production at its full-employment level

* Case against active stabilization policy

e Government

e Should avoid active use of monetary and fiscal policy
* To try to stabilize the economy
» Affect the economy with a big lag (Time lags = Inside lags + outside lags)

e Automatic stabilizers (Taxes & Govt. Transfers)

26



Stabilization Policy — Time Lags

* Time lags = Inside lags + outside lags

Phat hién truc trac

Bién phap can thiép

Phat huy tac dung

|

|

Do tré trong

Do tré ngoai

(Inside lags) (Outside lags)
Fiscal Policy sl *
(Chinh sach tai khoa)
Monetary Policy * %k
(Chinh sach tién té)
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A

Macroeconomic Policy — Stabilization the
Economy?

* Should Policy be: Active (?) or. Passive (?)
* Lags in the implementation and effects of policies (Time lags)
* The difficult jobs of economic forecasting
* |gnorance, expectations, and the Lucas critique

* If Active: Should Policy be conducted by: Rule (?) or Discretion (?)
e Rule (?)
* Distrust of policymakers and the political process.
* The time inconsistency of discretionary policy.

Japan: Deflation and %AP(Expectation)

Inflation Targeting (IT): 1990s, 2000s [%AP with buffer zone) Viét Nam?
United States: Taylor’s Rule

Nominal Federal Funds Rate = Inflation + 2.0 + 0.5(Inflation — 2.0) + 0.5(GDP gap)
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Price level, P
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Price level, P

2 ... lowers
the price
level in the
long run ..

LRAS

3. ... but leaves
output the same.

Income, output, ¥

1. A fall in aggregate
demand ...

=

Income, output, ¥

The Long-Run Aggregate
Supply Curve In the long
run, the level of output is
determined by the amounts of
capital and labor and by the
available technology; it does
not depend on the price level.
The long-run aggregate supply
curve, LRAS is vertical.

Shifts in Agaregate
Demand in the Long Run
A reduction in the money
supply shifts the aggregate
demand curve downward
from AD4 to ADs. The
equilibrium for the econ-
omy moves from point A
to point B. Because the
aggregate supply curve is
vertical in the long run,
the reduction in aggregate
demand affects the price
level but not the level

of output.

Keynes vs. Classical Theory

FIGURE [{[+)

Price level, P

Short-run aggregate supply, SRAS

Income, output, ¥

SN 10-10

Price level, P

2. .. afallin

aggregate
demand ...

1. In the
short run
when prices
are sticky...

Income, output, ¥

ﬂ—l—
3. ... lowers the
level of output.

The Short-Run Aggregate
Supply Curve [n this extreme
example, all prices are fixed in
the short run. Therefore, the
short-run aggregate supply
curve, SRAS, is horizontal.

Shifts in Aggregate Demand
in the Short Run A reduction
in the money supply shifts the
aggregate demand curve down-
ward from AD; to AD;. The
equilibrium for the economy
moves from point A to point B.
Because the aggregate supply
curve is horizontal in the short
run, the reduction in aggregate
demand reduces the level of
output.



* Counter-cyclical (monetary,
fiscal) policy

* Pro-cyclical (monetary, fiscal)
policy

* Keynes: Counter... or Pro...?

 Why: Pro...? How: avoid?

Employment
or output

Business-

cycle
peaks

Business-
cvcle
troughs

e Year

Recession  Expansion  Recession
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Counter-cyclical (monetary, fiscal) policy
Chinh sach nghich chu ky

Kinh té dang huédng vé A
* Chinh sach tai khoa:

* G:

e T:
e Chinh sach tién té:

° i

* Ms:
Kinh té dang hwéng vé B
* Chinh sach tai khoa:

* G:

e T:
* Chinh sach tién té:

° i:

* Ms:

Employment
or output

Business-
cycle
peaks

Business-
cvcle
troughs

____""-—-._._,_‘_

e e S Year

Recession  Expansion  Recession
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Pro-cyclical (monetary, fiscal) policy

Chinh sach thuan chu ky

Kinh té dang huwéng vé A
* Chinh sach tai khoa:

* G:

e T:
e Chinh sach tién té:

° i

* Ms:
Kinh té dang hwéng vé B
* Chinh sach tai khoa:

* G:

e T:
* Chinh sach tién té:

° i:

* Ms:

Employment
or output

Business-
cycle
peaks

Business-
cycle
troughs

____""-—-._._,_‘_

e e S Year

Recession  Expansion  Recession
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